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A4 0.512+0.334%2 = 1.18 m/A = 1K

A5 0.08m/A& 0.15m/& 0.23m/K K2K=0.92m
$kAEE D10 = 0.560kg/m  (1.62+1.58+1.22+1.18+0.92)%0.56 = 3.7 kg

AN TIB 1ELY#=E
1v9-+ 18-8-25BB 0. 102+0. 608+1/2+ (0. 11+0. 19) + (0. 102+0. 088) *1/2*0. 085%0. 56 = 0.01 m3
I 0.102x0. 86+0. 088*0. 56+0. 088+0. 523%1/2 = 0.2 m2
RC40-0 t=10cm 0. 102%+1/2%0. 608 = 0. 03 m2

EIATC 1ELBYHKE
hY-b 18-8-25BB (0. 371+0. 253)*1/2+0. 61% (0. 11+0. 19)
+{(0. 371+0. 354) ¥1/2+0. 085+ (0. 277+0. 253) *1/2%0. 125} %0. 55 = 0.09 m3
B (0. 371+0. 253) 0. 86+ (0. 354+0. 277) x0. 55+ (0. 354+0. 277)%1/2+0. 40 = 1.0 m2
RC40-0 t=10cm (0. 371+0.253)*1/2+0.61 = 0.2 m2

$k&5 D10 BT 0.51+0.525%2 = 1.56 m/&R = 3K
B2 0.51+0.325%2 = 1.16 m/A = 3K
B3 0.29m/& 0.24m/& 0.20m/& K2R =1.46m
#mES D10 = 0.560kg/m (1.56%3+1.16%3+1.46)*0.56 = 5.4 kg

S
LO. !
Red00 S RC40-0 ) S RC40-0
N B3

ETE545 KT RETHE

E53:5E Y

BITA

Al 548
o [ A2 512

D10

334

325

) EHE (M) [ZCADYT M DR IEHRRIZ & B
BRAOEHAIA 7ty MEICLHRRY &L,

A W A &%

TR 30 FE  MERERRE IS
g3 | mem ®R| m=
AEAH EEE AT HEE
| [ma] || |em s
=]






